-5

T = Tt 273
Te= 3704273 =» | T = 310K

2% . Convert 77 k 4o deqrees Fahrenheit,
L—) K~>C-»°F

Te = Te+273 =P 77K~ T+ 273
T = —196°C
74

Te: T (Y +v22 > T

- C1)(3) + 32 = [T = ~320°F]

—_—

) Densi-\*g = Hhe mass of o substance
| of +he substance.

per unit volume

density = 0222 or D= -
volum ¢ - v
- iguids = c\e,ns{-h_s reported in o/ml,
~ solids = density reported in Y e
- gases = density reported in /L . lofml = lofen?
A

* Water has o density of approximately l9/ul. Lead has
a c\u\s(iﬂj of 1Y 3fem> 5o it sinks in water, Styrofoam

has o density of o0.035 3/cm> 5o it Floats jn water.

&X: An object weishing 3504k occupies a velume of 1.2x10%in’
will this objtct Float o sink in water?

L_, D: _—S\- = BSO‘Qb g ey C,On\ltr"f +o 3/¢m3 ﬂu\& COMPQ{'Q...

Y A

o2 X [0 in®
3504, 4SESIs ""Q'ﬁ"i = 0.8073 = |0.8l 3fem?
12X [0 LAk @.s4em) Ly obyect less dense
"'\\Qﬂ HzO, So ;+

L 4
Ly don't just cube
£ % Hhe unids V! Eloats.
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Density — An intensive, physical property that describes the compactness of a substance. Substances have unique
densities at a given physical condition (temperature, pressure).

density =

mass
volume

D:

<3

Example: A spherical lead bullet with diameter 9 mm
has a mass of 4.33 g. What is the density of lead in

g/lem®? (V= g' nr)

Example: A sheet of lead that is 3.0 cm can reduce
99.9% of the intensity gamma radiation. What is the
mass of a sheet of lead that measures 1.0 m by 1.0 m?

Steps to Solving Problems

1.

2

Identify the Variables.
Write the Equation used.
Substitute Values into the equation.

Write the Answer with the correct number of
significant figures and the appropriate units.

20-kg blocks of lead and steel are obtained. If the
volume of lead block is smaller than that of the steel
block, how do their densities compare?



